Partdrawing for DTDA100Z - Slagschroevendraaier

2019/04
DTDA100




Partdrawing for DTDA100Z - Slagschroevendraaier

Nr.

001
001C10
001C20
002
003
004
005
006
007
008
009
009C10
010

011

012
013
014
015
016
017
017C10
017C20
017C30
017C40
018
019
020
021
022
023
024
025
026
027
028
029
030
031
032
033
034
035
036
037
038
039

Part nr.

183P03-6
263005-3
931002-4
855U42-3
459416-0
144709-5
457484-7
620A98-3
620A97-5
455053-8
140L08-5
422465-0
620A99-1
459402-1
231951-8
267085-1
233005-7
162257-2
265145-3
140L06-9
210177-5
213380-7
267063-1
962113-4
261160-5
213118-0
136116-6
216040-0
327344-6
216040-0
267175-0
232525-8
213541-9
267851-6
216041-8
327355-1
226896-3
256173-9
267104-3
226895-5
213561-3
210112-3
256555-5
459400-5
620521-2
266490-9

Name

Motorhuisset DTWAQ090 A
Rubber Pen 6 AC320H P
Zeskantmoer M3

Naamplaat DTDA100
Afdekkap rood

Afdekkap Usb Dft127F

Lens Dft085F

Licht circuit DTD040

Buzzer circuit DTDA-serie
Schakelknop Re Li Dtd137 148
Schakelaar cpl DTDA140
Schakelaarkap DTDA series
USB circuit DTDA-series
Afdekkap

Borgring 11

Sluitring 12

Drukveer 13

Bus Btd044

Schroef M4X22

Slaghuis B DTWA100
Kogellager 68/14LLU DTDA serie
O-Ring 24 Hr2440/50 A
Sluitring 18mm DTDA series
Seegering R24 Btp140 A
Sluitring nylon 30mm DTD171
0O-Ring 12 Hr5210C
Aambeeld M DTDA-serie
Stalen Kogel 3.5 A

Slagstuk C DTWA100

Stalen Kogel 3.5 A

Platte Ring 24 Btd132
Drukveer 25 B DTDA100
O-ring 14mm

Schotelring 14 Btw104Z
Stalen Kogel 5.6 A

As B DTDA100

Tandwiel 16 DTWA/DTDA-series
Pen 3.5

Sluitring 12 Bhr240/241
Tandwiel 39 DTDA-series
O-Ring 42

Kogellager 6801LIb TD0100 P
Pin 2mm DTDA-series
Tandwielkast DTDA-serie
Led-Circuit Dtd170

Parker Ck 2X6Mm DDF483 P

'H!!l,;!!!‘fl




Partdrawing for DTDA100Z - Slagschroevendraaier

Nr.

040

041

042

043
044
045

046
046C10
046C20
047
047C10
048
049

Part nr.

620A30-7
652069-6
629418-2
619574-6
643850-6
855U47-3
183P03-6
263005-3
931002-4
140L11-6
819J54-4
459424-1
251581-9

Name

Controller DTDA100
Kruiskop Schroef M3X6

Veld DTDA100

Motor DTWA100
Aansluitunit Bcl142D (3 Cont.)
Serienr label DTDA100
Motorhuisset DTWAQ090 A
Rubber Pen 6 AC320H P
Zeskantmoer M3

Indicatieplt ROOD DTDA100
Indicatielabel rood DTDA100
Stopper DTDA-serie

Schroef M30x20

'H!{l,;!!!‘fl




